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o 2
(+ solve exact equation, including the initial condition v[0]=vO, then set r0-0 x)

In[34]:= DSolve[{v'[t] + 3/ (t+r0/c)v[t] - g =0, v[0] = v0}, v[t], t]

out[34]= {{vit] -

4gr0’®t+6cgr0’t? +4c2grot? +c®gtt +410° vo 1
4 (r0+ct)3

. 4gr03t+6cgr02t2+4czgr0t’+c3gt4+4r03v0
In[35]:= solution = Fullsimplify[ ]

4 (xr0+ct)’

gt (2r0+ct) (2r0° +2cr0t +c? t?) +410%v0

out[35]=
st 2 (0+ct)’

In[36]:= solution /. r0-0

out[36]= g—;:

(» if you took r0-0 before solving the equation,
you get a result that's not so easy to deal with =*)

In[43]:= DSolve[{v'[t] + 3/tv[t] - g =0}, vit], t]

out43)= {{vit] - — + C[” =—1}}

(* in this case, because of the t~-3 term,
we can' t fix the constant C[1l] using v[0]=0,
since the solution is divergent there. so, this solution isn't really appropriate *)
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